%1% 414} /Butterfly valve Optional material
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HE AT %41 #l/Optional material for butterfly valve

FEFHMY MR &AM FEFHH MR &AM
Main components Material Applicable size Main components Material Applicable size
IX%%%% 50mm-1200mm
Ductile iron
REFER TE5M 416/316/304
Cast iron 50mm-1000mm Stainless steel 416/316/304
iE oA o
R {E” A% 25mm-300mm AT 25mm-1200mm
Body Aluminum alloy Stem
5N
Cast stell 50mm-600mm T
S | el |
_TB@%N 25mm-600mm Carbon steel electroplate
Stainless steel
E3 75
EH 3041316 25mm-1200mm TEISE%RHX
Stainless steel 304/316 —
5
EPDM
HREHLIE RS IR
Ductile iron nicr phosphorus coated VITON
o I + 7S
lgjzf; 50mm-1200mm |1Sﬂegrilét 17&57%?3& 50mm-500mm
KEFSEBERE
Ductile i ( ted
uctile iron nylon coate it & EPDM
W AB4N Wear resistant EPDM
Dual phase steel
HEHE BUaZH
Aluminum bronze 50mm-600mm PTFE
 EHEERANR, SEEEE |
Seal pair applicable medium and temperature recommended list
N 1 BB RoE IR
. ERRRE ) .
ZHEIN R Applicable Mediums type and applicable degree
Seal pair material tempperatur 12|34 |5|6|7|8]9]10/11]12]13 Rttt
P © Outstanding characteristic
THE . . [54:KO)
-12°C~+82°C A A A B A D B A A . .
NBR 8 c Dl Al B Oil resistance @
=RnZA o o it @
EPDM -35C~+135C A A A A A C A B B A A C A Resistance to aging @
MEH=7TZ A &R Q. MEt @
,‘ Corrosion 35C~+160C | A| A|A|A|A|A| A B|B|A| A|C|A Abrasion resistant @
HSﬂEE resisting EPDM Resistance to aging@
eat
e EE® . HERO
EPM 23C~+135C | A| A|A|C|A|C|A|A|C|A A A A High temperature resistant@
Abrasion resistant @
i WEmE . s
%%ﬁéﬁ -10°C~+150 C AlA|lA A AA AlA A A A|A|A Abrasion resistant @
Temperature resistant @
BRERERIE . . ik ®
Plated ductilelron B0 +350 ¢ B clpjc CIB|AIBIATAIC Heat resistant ®
Kk RER HEMmQ \ WHE ©
Ductile iron nylon | -30°C~+100°C | A Al A|A A|lA| C|A| D|A|A Abrasion resistant @
. coating Wear-resisting ©
31771 h
Disc o= it ® | Emm e
e 273 C~+232°C | A c|bD|cC B|A|A|A|A|A|C Heat resistant &
Aluminum bronze . .
Abrasion resistant @
AR M=ad® « mWEwe
Stainless steel -268°C~+316C | A c|C|B AlA|A|A|A|A|A Tempergture r«_esustant @
Abrasion resistant

A-FEEIEFVery Suit B-i&EfSuitable C-BRiEMLimted suit D-Ai&EFMANot Suit

1.3 7KFresh Water 2.3§7kSea Water 3.th3Salt 4.3&EStrong Alkali 5. §§8Thin Alkali
8. X#A S Natural Gas 9.EEZAlcoholic 10. EKAIr 11.7&5Stem 12.;H20il 13. & &Food
it M0il resistant fit & 1L Age resistant it & tdiCorrosion resistant & iEHigh temperature resistant
it BWear resistant & EEAnti-friction

6. 3BE4Strong Acid 7. §5EThin Acid
fit#Heat resistance
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Cv(C)value of Wafer Butterfly Valve
Xt e E Cv (C) &

Cv{&E X Definition of Cv Value
LT, @FIKEZERLIFE/ET RIKBE60° F
BEKE, BE@EITHEME/SHRER

The value Cvis the flow rate (in US gal/min) of pure
water at 60°F passing through the valve when the valve
discis fully opened and the pressure differential between

AJesuinl

C{EE X Difinition of C Value

KRAZBIT IR EZER100kPabt, FEHEITIERR
T Rm/hit, ARZBERKG/ MERE.
The value C,is the flow rate (m®h) of pure water at
normal temperaturepassing through the valve when
the valve disc is fully opened and the pressure

differential between the two ends of the valve is (kg/m®)

the two ends of the valve is 1Lbf / in?

100kPa
cv=v /_G c=Q [P _
P1-P2 PaN=)
V. BAKRE (EmMe/8) V:Max. flow (in US gal/min) Q: B KRE CK/INE Q: Max. fiow (m*®/h)
G:tb & (k=1) G: Specific gravity (1 for water) P NREBEN /K EIP=1) P:Medium density

LSRN E 5 B/ 31
2R E J (BE/E T

P1:Inlet side pressure (Lbf/in%
P2:Outlet side pressure (Lbf/in?

AP:BITTEH %, 100kPa.
(A /XKD

(kg/m®)
AP :Pressure loss

Cv=1.17C Cv=1.17C in valve 100kPa
(kg/cm?)
I}ILBH./‘?“%I 5Ccvia® ﬁﬁ*%
Conwersion of flow resistance coefficient and Cv value
d d: &7 A 12 sk i EE O Fin (&)
Cv=29.97~ 4B 1S 1)
d:Valve bore size orvalve seat bore size (in)
¢:Flow resistance coefficient(no unit)
Mg EIIFEAERECVE .
Size Flow in Gpm@ 1PS| P @Various Disc Angles 90 %Eeﬁq S
(mm) (inch) 10° 20° 30° 40° 50° 60° 70° 80° oL
50 2" 0.1 5 12 24 45 64 90 125 135
65 25" 0.2 8 20 37 65 98 144 204 220
80 3" 0.3 12 22 39 70 116 183 275 302
100 4" 0.5 17 36 78 139 230 364 546 600
125 5" 0.8 29 61 133 237 392 620 930 1022
150 6" 2 45 95 205 366 605 958 1437 1579
200 8" 3 89 188 408 727 1202 1903 2854 3136
250 10" 4 151 320 694 1237 2047 3240 4859 5340
300 12" 5 234 495 1072 1911 3162 5005 7507 8250
350 14" 6 338 715 1549 2761 4568 7230 10844 11917
400 16" 8 464 983 2130 3797 6282 9942 14913 16388
450 18" 11 615 1302 2822 5028 8320 13168 19752 21705
500 20" 14 791 1647 3628 6465 10698 16931 25396 27908
600 24" 22 1222 2587 5605 9989 16528 26157 39236 43116
700 28" 36 1813 3639 6636 10000 14949 22769 34898 46500
800 32" 45 2387 4791 8736 13788 20613 31395 48117 68250
900 36" 60 3021 6063 11055 17449 26086 39731 60895 86375
1000 40" 84 1483 8395 15307 24159 36166 55084 84425 119750
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(EHIREH RARERSIENA)
KE B

[iE 528 =Kiva
1in _ 254 mm 1in* = 645 cm’
1t = 03048 m 1ff = 0093 m
1micron = 10° mm
m &
R EEE B
(°F-32)x5/9 =°C
K-273.15 =°C 1 Nm =1
1 kgm =9.807J
lkwhr =36 MJ
1 Ibft = 1356 J
FRE B L
1lb = 4536 E B
1 tonne = 1000 kg
1ton (imp) = 1016 kg 1 psi = 6.89 kPa
lton (us) =907.2kg 1 kgf / cm’ = 098.07 kPa
1 bar = 100 kPa
1 bar = 145 psi

1 mm mercury = 133.3 Pa
linmercury = 3.39 kPa

(. .
NFE 8L
1 Torr = 133.3Pa
1 kgm = 9807 Nm 1 ft water = 0.0298 bar
1 ftpoundal = 0.0421 Nm 1 bar = 33.33ft water
1inlb = 0113 Nm 1 atmosphere = 101.3 kPa
1 filb = 1.356 Nm 1 cmwater = 97.89 Pa
1 in water = 248.64 Pa
=
CviE =7K3RE8 (US gal/min) 60°FT , SRR EEH1psi

Z @I TS E A2 EE,

= 7KGRE (Lmin ) R20°CTR |, SREZEE A lkgi/cm?
Z WIS R EE.

So = BYEER ( mm?)

Kvi{&

Q =%& (N /min)
STP. =tnEREREN

( 0°CK:101.3KPa3tE S )
NT.P. = EEEREREN

( 20°CF.101.3KPaxt/ES7 )
M.S.C. = NFIRREIER
( 15°CF101.3KPaxt/ES7 )

AMR =B : 20°CRHEIHERE : 65%
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BAMBR/BZRER

R B AL
1 litre = 0.001 m’
1 cuft. = 0.0283m°
1 cu.in. = 16.39 m’®
1 fluid oz. (imp) = 28.41 mL

1flud oz. (us) = 29.57 mL
1lgal (imp) = 4546 L
lgal(us) =379 L

h&E g (Th/EfE)

1 Nm/sec =1W
1 Ibft/sec = 1356 W
1 kgm/sec = 9.807 W
1 joule/sec =1wW

1HP. (imp) = 7457 W

NE
1 kof = 981 N
1 Ibf = 445 N
1 kp ( kilopound ) = 9.81 N
1 poundal = 138.3 Mn
1 ton force = 9.964 kM

mEItEAR

Q =Cv{E x984
=Kv {& x 1100
Cv=S0+18

mER

1 psi = 6.895 kPa = 0.07 kg/cm’ = 0.06895 bar = 0.0703 atm
1 standard atmosphere = 14.7 psi = 101.3kPa = 101325 bar
1 kg/lcm?® = 98.07 kPa = 14.22 psi = 28.96 ins mercury

1m’ = 106 cm’

lcuft/min = 283 |/min

1Pa =1 N'm

1ftlb =0.13826 kgm = 1.356 Nm

1L=1000 cm’= 1.7598 pint = 106 mm’

1 tonne = 1000 kg = 0.984 ton = 2204.6 Ib






